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General Instructions :

(1)
(ii)
(iii)
(iv)
(v)
(vi)

(vii)
(viii)

37-14

All questions are compulsory.
There are total 35 questions in this question paper.
The Question paper is divided into three sections — A, B and C.

Section A has Questions No. 1 to 18 Objective Type Questions and are of
1 mark each. Questions No. 14 to 18 are case-based questions.

Section B has Questions No. 19 to 25 of 2 marks each and Questions
No. 26 to 29 are of 3 marks each.

Section C has Questions No. 30 to 33 of 4 marks each and Questions
No. 34 and 35 are of 5 marks each.

Internal choice is given in some questions.

Support your answer with suitable examples, wherever required.

SECTION A
(Objective Type Questions)

Ria washes dirty dishes while cooking food side by side in the kitchen.
What is performing of two tasks at the same time known
as?

(A)  Peak load period

(B)  Dovetailing

(C)  Organising work

(D) Work management

Why do we need to wash our hands before we handle food ?
(A) To increase the food moisture

(B)  To keep the food germ-free

(C)  To keep the food cool

(D)  To prevent the food from becoming stale
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How can a stain be identified ?

(A)
(B)
(C)
(D)

By Colour and Shape
By Shape and Smell
By Colour and Smell
By Taste and Shape

Choose the incorrect pair of work activities with its examples.

(A)
(B)
(C)
(D)

Heavy activities :  Running, Mopping
Moderate activities : Ironing, Cooking
Seasonal activities : Making pickles, Storing winter clothes

Light activities . Jogging, Sweeping

Which grease absorbent can Mayur use to remove a grease stain from

his kurta ?
(A) Chalk (B) Kerosene Oil
(C)  Petrol (D) Sugar

(a)

(b)

Which of the following development reflects an adolescent’s
ability to think systematically ?

(A)  Social development
(B)  Cognitive development
(C)  Physical development

(D) Emotional development
OR

At what age does a child’s temporary teeth start getting replaced
by permanent teeth ?

(A) 2to3years
(B) 3to4years
(C) 5to6years
(D) 8to 10 years
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7. Arrange the following steps of removing any unknown stain in a proper
sequence :

(1) Soak the stain in cold water.
(ii))  Expose the stain to sunlight.
(111) Remove the stain when fresh.

(iv)  Soak the stain in warm soapy water.
Choose the correct option from the following :
(A) (1), (1), (iv), (ii)

B) (i), (i), (), (i)

(C) (i), (1), (i), Gv)

D) (), (i), (iii), (iv)

8. Match List I with List IT :

List1 List I1
(Nutrients) (Sources)
1. Vitamin A (i) Milk, Green leafy vegetables
2. Protein (11)  Guava, Lemon
3. Calcium (iii) Peanuts, Soyabean
4. Vitamin C (iv)  Carrot, Papaya

Choose the correct option from the following :
A 1-Gv), 2-(ii), 3-4), 4-Gi)
B)  1-(), 2-(ii), 3-(iii), 4-(iv)
(C)  1-(), 2-(Gv), 3-(iii), 4-(i)

(D) 1-Gii), 2-(1), 3-(iv), 4-(i1)
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10.

37-14

Match List I with List IT :
List I List IT
(Type of Play) (Examples)
1. Passive (i) Cycling
2.  Active (i1)  Girls playing with dolls
3. Exploratory (iii) Playing alone with toys
4. Natural (iv)  Opening up toy car screws

Choose the correct option from the following :
(A)  1-(iv), 2-(ii1), 3-(i1), 4-(1)
(B)  1-G1), 2-(iii), 3-(1), 4-(iv)
©)  1-0), 2-(iv), 3-(ii1), 4-(i1)

(D) 1-Gib), 2-G), 3-(iv), 4-(11)

Which nutrients are provided by energy giving foods ?
(1) Carbohydrates

(ii))  Vitamins

(iii)) Fats

(iv)  Minerals

Choose the correct option from the following :

(A) (il) and (iv)

(B) (1) and (iii)

(C) (1) and (iv)

(D) (i) and (iii)
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11. Identify the importance of time management from the following :
(1) Helps to achieve goals in limited time period
(i1))  Increases nervousness
(iii)  Gives no time for leisure
(iv)  Avoids wastage of time
Choose the correct option from the following :
(A) (i) and (iv) (B) (i) and (iii)
(C) (1) and (iv) (D) (ii) and (iii)

12. Given below are two statements labelled as Assertion (A) and Reason (R).
Assertion (A) : Household kitchen should be well-lighted and ventilated.

Reason (R): Windows and doors should not have a wire mesh.

Select the most appropriate answer from the options given below :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

13. Given below are two statements labelled as Assertion (A) and Reason (R).

Assertion (A) : Adolescents give more importance to their peer
group/friends.

Reason (R): Adolescents must behave courteously towards their
parents.

Select the most appropriate answer from the options given below :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
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Case study-based questions

Read the passage carefully and answer questions no. 14 to 18.

14.

15.

37-14

All of us use a variety of products everyday. A few of these products can
be made at home, while for others we have to go to the market and buy
them from the shops. In our country a lot of people are ignorant and ill
informed. They rely on the information and guidance provided to them
by the manufacturers and shopkeepers. A number of these
manufacturers and shopkeepers want to make quick and easy money
even if it means at the cost of the health and safety of innocent people.
Therefore, it is important to check for appropriate standard marks
before buying any food products or household items.

In which year was the FSSA enacted ?

(A) 2004

(B) 1986

(C) 2010

(D) 2006

Match List I with List II :
List1 List IT
(Consumer Problems) (Examples)

1. Faulty weights and measures (i)  Blurred label

2. Poor quality of goods (i1)) Bent metre rod

3. Misleading information (iii) Shortage of goods during festivals

4. Black Marketing and Hoarding (iv) Adulterated goods

Choose the correct option from the following :
(A 1-G1), 2-(iv), 3-(1), 4-(ii1)
B)  1-G), 2-(ii), 3-(ii), 4-(iv)
C)  1-Gv), 2-(1), 3-(ii1), 4-(i1)
(D) 1-(Gii), 2-(11), 3-(iv), 4-(1)
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16. Which is the correct pair of standardization mark and product ?
(A) ISI : Jam
(B) Woolmark : Silk
(C) Hallmark : Jewellery
(D) Agmark : Salt

17. (a)  Which of the following is a role of standardization mark ?
(A) Increases damage of products
(B) Ensures quality and safety of products
(C) Offers genuine discounts to shopkeepers

(D) Prevents high prices
OR
(b)  Which of the following is not a function of FSSAI ?

(A)  Offering discounts on low quality food products
(B) Framing standards and guidelines for food items
(C) Laying down procedures and guidelines for food laboratories

(D)  Issuing license to food service operators and vendors

18. Which of the following food items may be adulterated with argemone ?
(A) Tea leaves
(B)  Turmeric powder
(C)  Ghee
(D)  Mustard Oil
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SECTION B
(Short Answer Questions)

Which are the four areas in the kitchen that need to be cleaned on a

weekly basis ?

(a) Enlist any two features of emotional development in early
childhood.

OR
(b) Enumerate any two activities of motor development seen in a

3 to 6-year-old child.

Your 70-year-old grandmother has come to stay with you for a few days.
Which four points will you take care of while preparing meals for her ?

State any two advantages of having leisure time in the daily routine of an
individual.

Kesari dal is often used as a food adulterant.
(1) Which two food stuffs are adulterated with this ?

(ii))  Mention any one ill effect on health after consuming it.

Write any two reasons why prices of products vary in one shop as
compared to another shop.

(a) Name two reagents you will use to remove tea stains on your
white cotton table cloth.

OR

(b)  Which two reagents can be used to remove a ball pen stain on a
white cotton school uniform of a child ?
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Residents of a housing society experienced that a fruit and vegetable
seller coming to their locality is deceiving them. Which six malpractices

may he be using to cheat them ? 3

(a)  Zainab switched her job from night shift to morning shift. You
have advised her to make a time plan for the new work timings.

Explain to her the various steps of making a time plan. 3

OR

(b)  Mrs. and Mr. Kumar have to prepare and serve food to guests
coming for their daughter’s birthday party. Suggest to them any
three ways by which they can simplify their work.

(a) What is meant by a stain ? Name the five categories of stains. 3

OR

(b)  List any three precautions which should be taken while removing

stains.

Describe how play is important for a child’s growth and development, by
giving three reasons. 3
SECTION C

(Long Answer Questions)

15-year-old Yashleen got very angry when her parents refused to give her
permission for going to a party. What could be the four reasons for such

behaviour in adolescents ? 4

Sarthak has been working on a project for the past six months and is now

losing interest and motivation to pursue it further. 1+1+2=4
(1) Identify the type of fatigue he is experiencing.
(ii)  Predict any one reason of this type of fatigue.

(iii) Advise him any two ways of reducing this fatigue.
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(a) Food hygiene includes cleanliness in preparation, cooking and

serving food. 2+2=4

(1) In this regard, give two reasons why cleanliness of cooking

utensils is essential.

(i1))  Which two points will you consider while selecting fresh and

packaged food to maintain food hygiene ?

OR

(b)  Maintaining kitchen hygiene is essential to protect ourselves from
various diseases. In reference to this, suggest any two ways for

each of the following :
(1) Personal hygiene of a chef
(ii)  Hygiene during food storage in a fridge

“Ability to creatively use leftover food items in the kitchen is important in

the meal planning process.” 3+1=4

(1) In support of the above statement, explain any other three

importance of meal planning.

(ii)  Provide any two ways of utilising leftover rice the next day.

Your sister has purchased a silk scarf. Silk is a delicate natural fibre so it

needs careful handling. 4+1=5
(i) Recommend to her four tips for the proper storage of the silk scarf.

(i1)) Which finishing agent should she use to bring shine and a crisp look

in the scarf ?
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35. (%) ATHAE Th AZAN g I AU Tl 3§ Tt AW a1l FAT oh
o1y 9 &9 T & | 39 fEufa & smam w, fafefaa s % sw
EUEIE 242+1=5
i) o IF-H 3 HRH & I IGh YRAR shl WIS JISHT bl TG LT 2
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(i) 399 § 9T I a7l foheal 3 @ Tgi hl 9ga hifag |
(i) 3T @ FHgl § ° T g YeH foht U foReft Tk iveh-ad
=l feifaT |
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35. (a) Aftab is a fisherman residing in a coastal area with his wife and
two school-going children. Based on this situation, answer the
following questions : 242+1=5

(1) What are the two factors that will affect his family’s meal
planning ?

(ii)  Which two points should his family consider while selecting
food for their children’s tiffin ?

(iii) Suggest a low cost nutritious food that this family can
include in their diet.

OR

(b)  Your mother has cooked pumpkin halwa with lots of dry fruits added
in it.

(1) Identify any two food groups found in this dish.

(ii1)  Write any one nutrient provided by each of the above food
groups.

(iii)  Which food group is not present in this dish ?



